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® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)
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@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




3. 4 +Axy+9y? = (Bx+Cy)? 4 0], 0|5 THESh= Al A=A, B, C
o Fe F?

O 14 @ 15 ® 16 @17 ® 18
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(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3 A=12

A+B+C=12+24+3=17
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5. 2x>-T7x+3=(2x-A)Bx-C) € W, A+ B+C ] 3 F35}H?

® 1 @ 2 ® 3 @1 @)

B

2x2 = Tx+3=(2x-1)(x - 3)
(2x-1)(x-3) = (2x-A)(Bx-C)°|B=
A=1,B=1 C=3
LJA+B+C=14+143=5
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(x+a)(x+b)(x+c) 7t =AUt oW a + b + ¢ O] FF2?

x(x2-9)+(x*-9) = (x2-9)(x+ 1
=x+3)(x=3)(x+1)
Ot a=3,b=-3,c=1°22

a+b+c=10°]|c}.




9. (2x+1)2-(x-2)2=(Bx+a)(x+b) ¥ W, a+3b2] Zt=S FoFH?

® 4 @ 6 @7  @s ® 9
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2x+1=A, x—2=B= X|35}H
(2x+1)%2 - (x-2)2
=A?>-B>=(A+B)(A-B)
=(2x+14+x-2)2x+1-x+2)
=@Bx-1)(x+3)
La=-1,b=3
Soa+3=-149=38




10. 3v-2°] 3¢ - ax+ 8 9 A5 1), o 9] gL FHA?

® 11 @ 12 ® 13 @14

® 15
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3x> —ax+8 = (3x—2)(x + p)
=3x2+3px—2x-2p
=3x>+Bp-2)x—2p

—2p=8, p=—4 0|1,
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16.

ZArZEg o] Qol7t (a + b)(a+ b + 1) — 30 o3, 7k2 9] Zo|7t
(a+b+6) 4 o, o] AP o] o] HolE FotH?

® 4a+2b+4 @ 4a-2b-2 ® da-4b+2

@4a+4b+2 ® 4a+4b-2

S8 \
a+b=AzFH
A(A+1)-30=A%2+A4-30
= (A+6)(A—5)
=(a+b+6)(a+b-5)
N2 :a+b-5
=9 :2(a+b-5+a+b+6)=4a+4b+ 2 °|T}.




17. (x+y)(x+y-1)-20 & HI2A] AFEFF 229

@(x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x-y-5)(x-y+4)

~&B

x+y=A =2l st

(x+y)(x+y-1)—20 = A(A-1) - 20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y—+4)




18.

(x—y)2—12x+12y+36 = (x +ay+b)> L W, &5 a, b F

ab 9]

&

@ 2 @ 4 @6 @ 11 ® 16
x—y=A= X5t
A?-12A4+36=(A-6)2=(x—y-6)

a=-1, b=
. ab=06
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19. > +3x=5 W, x(x+1)(x +2)(x + 3) - 3 & F2?

@ 21 @32 ® 60 @ 96 ® 140

(x2 +3x)(x2 + 3x+2) =3 =5(5+ 2) - 3 = 32




20. xX*+3xy-x-6y-2 5 AFEa A (x - 2)(ax + by + ¢) ©|T}.
a+b+c 9 3= otofet.

x* + 3xy — x — 6y — 25 xof ¥l F2JstH

4+ @By-1Dx-23y+1) = (x-2)(x+3y+1)
ca=1,b=3c=1

“a+b+c=5




1(2+ V3) 2
243
(2-v3) (2+v3)  4-3 SV

(2-V3)" =4-4V3+3=7-43

(F4) = (2+ V3) - (7-4V3)
— —5+5v3
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3<24 V3<40|BE2
2+ V3o HAFHEL 3 ALRHEO (31 0|t}
x=3,y= V3-1
2 4
1-vV3) + —
( ) \/g—l
1(V3+1)

ah (V3-1)(V3+1) =0




24. 49x* -9+ ldxy +y? = AFEHSHHAEY (ax+y +b)(ax+cy + 3)
7F =3}, oldl, &4 a, b, ¢ o W5kl a - b+ ¢ O gL& F5HA?

@ 2 @ 4 ® 6 @11 ® 16

B ,

49x2 + 14xy +y* -9 = (Tx +y)? - 32
=(Tx+y+3)(Tx+y-3)

a=T7,b=-3,c=1

La—-b+c=11




25.

Xt = 1307 + 362 AFEoE o, SR LR o] Fof%

ke 1519
O 4x+13 @4x ® 4x-13
@ 2x2-13 ® 2x2+5

B

x* = 13x% + 36= (x2 - 9)(x% - 4)

= (x+3)(x—3)(x+2)(x~2)

- (2R Q55 )
=x+3+x—-3+x+2+x—-2=4x




26.

xy=3,x2+y2=6 4o, ¥+ J A7 (F, x+y>0)

®2v8 @43 @)V @ sv3

® 10V3

B

(x4+y)2=x24+y2+2xy=6+2x3=12
x+y>00|E2 x4+y=2+3

(> +y?)(x+y) =2+ +xy(x+y)
6x2V3=x>+y3+3x2V3

x*+y* =63




27.

o7k 247 1@2:@ ) =

o] gt §9] AolE x, A2 FAF Y] g ¥o] Aolg y 2 & ),
X3y + xy® O & FSHH?
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@ 8

9 1
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()? =a%y? =22 - (V3)? =1

xy=1( x>0,y >0)

whbA | 3y + xy? = xy(x® + %) = 1 x4 = 4 o[t}

X

=2+V3,)*=
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5 2] 24 a ofl thoto] x% — x—a 7 Algeet Adrato] % A
T dapA o] FHo 72 QLRI HEE 5t g o] B 5ol
= il
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~&B

2 —x—a=(x+n)(x+m)olet stH (&, n>m)
n+m=-1, nm=—a

olufl, 10 <a < 100 ©]E 2 nm < 0

Z n>0, m<0°]3, —100 < nm < —10 ©|t}.

O1% WL n, m o AL ToEH

(3, —4) (4, =5) (5, —6) (6, =7) (7, —8) (8, =9) (9, —10)
et a =

12, 20, 30, 42, 56, 72, 90 2] 7 7jo]ct.




29. ab-6a+5b-48=0
a>0,b>0)

filo
o
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8 a, b & =M NeE? (H,

@ 17 @ 271 @3711 @ 47 ® 574

~&B )

ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
(i)a+5=18,b-6=1

a=13,b=7
(i)a+5=9,b-6=2

a=4,b=28
(i)a+5=6,b-6=3

a=1,b=9

S A% a, b O e 370




30. x=2+1V3,y=2-V3 ], x2—y>+4x—4y ] 4] g-& L5}H?

O -4 @ 4 ® 83 @16«/5 ® 24

x, y o] & & ot
X+y=2+V3+2-V3=4
xX—y=2+ \/3—(2— \/3)22\/3

X —y? 4+ 4x -4y
=(x+y) (x-y)+4(x-y)
=@x-y)(x+y+4)
=2V3x(4+4) =163




